Best model for HELP_J021424.566-033708.748 at z = 0.881 x?=2.2

OPTx?=1.87 IRx?=3.33 threshold (OPT IR)=15.04 [um]

102

101!
> 100
B 10
X
r 107!

073 5

""’q""ﬁ*‘“'\h\ L

m

Stellar attenuated
fffff Stellar unattenuated
—— Dust emission
—— AGN emission
= Model spectrum

® Model fluxes
M oObserved fluxes

I
=

mfe= (Obs-Mod)/Obs

100

10t 102 103

Observed wavelength [um]

Relative residual flux
o
| I
1
] 1
] 1
: 1
[
1 1
] 1
] 1 4
; 1
] 1
1
1
1
L) T
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
[

g

CiGAL



